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 Autograph Activity

Quadratics in ‘Complete Square’ form
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 Open a new Graph Page in Standard Level
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 Enter Equations: y = x² and then y = (x − a)² + b. 
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 Attach a point to the curve y = x² and position this point at (0,0)
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 Select this point and right click enabling you to ‘Add vector’ as shown.

The current values of a and b are 1 but you are now going to observe the effect of changing the values of  ‘a’ and then ‘b’
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 Use the constant controller to investigate the effect on the graph of changing ‘a’. Then switch to ‘b’ and see what happens when you change this!
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  Enter Equation y = x² − 3x + 1 then . . . 

[image: image9.png].1
M i



 . . . use the constant controller to try to fit the graph of y = (x − a)² + b on top (precisely – so ‘zoom’ in to check!) of y = x² − 3x + 1.

	Write down the values of ‘a’ and ‘b’ – they are not integers!
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You should now be able to write the equation in ‘complete square’ form:
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[image: image13.wmf] Find the values of ‘a’ and ‘b’ so that the graphs of y = x² + 6x + 8 and 

y = (x − a)² + b coincide. ACTION: Learn how to find ‘a’ and ‘b’ using algebra! 

	
[image: image14.wmf] Write, in you own words, the postion of the point (a , b) on the graph of 
y = (x − a)² + b:

Ask your teacher to check this now!
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